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What percentage of nucleotides in the human psiadl A Bagagall CladslSoull (a Adglall dsudll Le

genome are responsible for encoding proteins ",3 Sagagall Clidiy ull wAES 0 Adgjeally (Sydull
in the body? ¢ )

Learning Outcomes Covered

o 1.3.6




Which two elements are always found oalaad) ‘,,a Ladla Glaaghy o)Al ol jadeldl La

in amino acids? eaiatl

Learning Outcomes Covered

o 1.1.7

Nitrogen and sulfur < &lly e g aall .
a. -

c Hydrogen and phosphorus  jeialls fpag gl
4. Sulfur and oxygen Sy y )

03 Mark(s): 4/4



Which hormones are released from nerve cells Acanl) LAY o, AU Cilipa,ed) o “gf
rather than from endocrine glands? ¢ elaall 23l e Y

Learning Outcomes Covered

o 1.1.10

Sy s Gyl sall
Norepinephrine and epinephrine

s lSslally s

Insulin and glucagon

Ol plly saill said

Growth hormone and thyroxine
OmmasinnSsYly Jasl) 3y Shiaddl Ggased) i
tidiuretic hormone and oxytocin o i
]

1



Which of the following is not true about

T A slall Ao ahaii Y L Laa o)

pure water?

Learning Outcomes Covered I

o 1.14

It has a pH of 7

It is composed of polar molecules




>

Starch is the major carbon storehouse in plants.

L (B b)) (A Slgglll) T
Experiments were performed to determine if

Saflenall Aslanly s 13 Lo aaa® cylat Sualy
O il GBS SN B Cilpdlll g ) pli
Jssad) Jllas E Slela 35 Baad SL 3l
Slagiess (el 3 g gl lly JgSulls (ila)
gl b gy Sl

2Ly Ogialdl gl Juagle & LY SlALBY| (a4
A P PR T~

trehalose might regulate starch production in
plants. Leaf disks were incubated for three
hours in sorbitol [t:untrul}, sucrose, and

trelahose solutions. Then, levels of starch and

sucrose in the leaves were measured.
Which of the following conclusions might the
researcher have reached based on these data?

Production of Starch and Sucrose

Learning Outcomes Covered I

o 1.1.9

D Sl 3 5 K e JBF LA e ZuaS D (300

Leaves always showed less starch than sucrose in all three solutions

G 3 el iy Ll ) 3ol sl ae v



- 8 X
(1] samoe.gov.ae/Analytics/QRevAll.aspx?smitreq=X9PEjbYTdEK1 +WyMBCEIGCUVOR)/bLUOVHAWTIEUfIwWTUXATjmYbdo LIUIBImKy
o Mark(s): 4/4 _
' L
LYY B gty Silygaasd)
sucrose in the leaves were measured. ses o g p . ~
B Ol el Joaghs 5 4000 CAaBEY) G gl

Which of the following conclusions might the

o) sda
researcher have reached based on these data?

Production of Starch and Sucrose

i

Learning Outcomes Covered L

i
1

o 1.1.9

BN Jillacall 8 g Kal) pa ST LS a 30aS Ul (33590 10

Leaves always showed less starch than sucrose in all three solutions

Sl 8 5apCull 2l L o) 3l dslas 4y v
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@ samoe.gov.ae/Analytics/QRevAll.aspx?smtreq=XIPEIbYTAEK 1 +WyMBCEIGCUVQR]/bLUOVHAWTIEUFSWTUX47jmYbdoLIUIBImKy

. Learning Outcomes Covered ][
1

o 1.1.9

2D a5 3 K0 cpe B LI g 00 50 BY) 38

Leaves always showed less starch than sucrose in all three solutions

3 Eﬂ‘&éwiﬂ“cb; 0 gl il Jsbaa iy

b. Tr&haiam solution increases starch production and sucrose production in leaves

Ty 20 By 59 €l 1) i Lu;m@mn tLui Jflea sl djlu Lk o

_.'-'-Trehalose solution increases starch production in leaves and decreases sucrose production almost entirely

'
1
i
i
o

I.-.-_ CE T P R PR TSP e e e P e e e e e et e R R LR R e R R et Ty E Ty

a0l g a8 LA A 5 S (s it

Sucrose solution decreases starch production in leaves and increases sucrose production
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A
In the figure below, the letter(A) indicates: () (A) iall udy sladl ey c,#
R Variable side chain R soiw, aols i
I I '
Hydrogen atom H O *I_I él:,
Amino Acid el e
Learmning Outcomes Covered
1.1.9
5. Hydroxide group 2.8 50 dogens
b. phosphate group dnligh Ao gana
c. Amino group A Ao gena
[ T 1
: 5 '
d E Carboxyl group (S5 K Ao ez o E
e o O .- o

O Type here to search i)



& Response Review - Goegle Chrome = X
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Q7:. Mark(s): 4/4

In the figure below, which letter indicates the ¢ ) aeall (e o sede i ‘é;wm; 1) qﬂ
amino acid hormone?

Learning Outcomes Covered

o 1.1.11

— 9:47 AM
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& Response Review - Google Chrome = X
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F o

- e - P ket
\ -~ .~ \yr E;
= * = . -

Learning Outcomes Covered

u T o B

a.l A O

Q.8:. Mark(s): 4/4

IA chemical reaction is a process by which 2NA i oagdl dalee aa  Jileansl e ldEl

= : : : %47 AM
H O Type here to search i) = : : [+ ol 10 fm ENG [l
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B samoe.gov.ae/Analytics/QRevAll.aspx?smtreq=X9PEbYTdEK 1 +WyMBCEIGCUvQR)/bLUGVHAWTIELFSwWTUX47imYbdoLIUIBSmKy

A
A chemical reaction is a process by which A e gl dles o (sl el
atoms or groups of atoms in substances g,a Bagapall ChAl e gana gl eyl
are g . 2 guadl
Learning Outcomes Covered
o ]
oal N A ol
5. Dissolved in other substances
Clisien Jla 3ok e Ll
b lonized by the loss of protons
_i):st .‘nEg.n \_L'J ﬂb."l 2= EL&ﬂY'@
c Mixed together with atoms in other substances
B L e e S e e e S R I S S RS S e a e e e e e e e e e S R
E @il dse ) Jiaills :
: &
d. 1 Reorganized into different substances ! v
) 9:48 AM
H O Type here to search i’ ' E AL ) ENG a0t L




5, Response Review - Google Chrome -
8 samoe.gov.ae/Analytics/QRevAll.aspx?smireq=X9P6jbYTd6K 1+ WyMBCEIGCUvQR)/bLUOVHAWTIEUfSwTUX47jmYbdoLIUIS9mEy
For what purpose is DNA fingerprinting used? Al gl Aaad) aadid A 4‘:{
Learning Outcomes Covered
o 1.3.7
a To sequence DNA from bacteria Lyl e DNAD Jlis casal
b To separate DNA fragments DNA i ;_l;p_.i bl
To identify single nucleotide polymorphisms &l cilas g€l JIKET s @¥la paan]
A A S A e s L H
| ]
d i To identify individuals who have committed crimes Aladl e85 -l ALY Sga aaanl o i
" | - 1
CESSEssEsssEssss e eSS S EEE BB EES s B s SRS BB B eSS e B H
Q.10:. Mark(s): 4/4

Which endocrine gland would provide a burst of energy to

a person moving out of the way of a speeding bicycle?

E O Type here to search a

Al (e dads a2 plasa B (]

A e o)) Y ENG

48 AM

11272021

|
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Q.10: .

Which endocrine gland would provide a burst of energy to

a person moving out of the way of a speeding bicycle?

ZED (e dads a0 plasa B ]
PAs it Ayl B (8 i paddl

Learning Outcomes Covered

o

Q.11:.

1.1.12

Thyroid

Pituitary

Parathyroid

id

Laolal)

Mark(s): 4/4

L]
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A
3 & & b Mark(s): 4/4
What is the genotypic ratio of the P sl gl A Jud A Atal) okl A L A
offspring in the cross illustrated below? ealial A )
Heterozygous white il i Al
’I‘I]l'!‘fl'l-lh bl Lallac,
w w w w
=e - =
ES k| }
=3 w Ww ww 17 w Ww ww
v
Learning Outcomes Covered
T332
a B 1:3
v

H O Type here to search it i - < ' B ) 4@ ENG
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g w Ww ww W Ww WW A

&

[

N
-!w Ww ww

Homozyg
JOES U e

gl Jze
s
=
z

ww

Learning Outcomes Covered

0 1.3.2

a. ]:3_

b. 1:0

é Jiake]

d.f 11 Q:

Q12:. Mark(s): 4/4

. 949 AM
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d: 1:1

Q12;.

Learning Outcomes Covered

o 1.1.3

H O Type here to search

reaction progress in the energy diagram
below, which of the following describes

the effect of the enzyme on a chemical

reaction?
Energy Diagram
=
-
ad
wilh engyme
= yithout enzyme

Reaction prograss

A Y Bl chaa L Laa g calial

Al

? el Jo i)

=

G

Mark(s): 4/4

D ¥ ENG
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5 =
wilh engyme EAN e A
= ithout enzyme ®y bl o A wxY
Reaction prograss e landl puls
W

Learning Outcomes Covered

el ol Lol Z8lh i) deag &

The presence of enzyme increases the activation energy of a chemical reaction

-

I
i el o lill o]l &la w3l 25mg (imid i
b. E The presence of enzyme decreases the activation energy of a chemical reaction O E
i )
e R R 4
el Cololl Lotnl) &8l to aiid) dsmg pg Y
c The presence of enzyme does not affect the activation energy of a chemical reaction

el Joliall Ioptiml) 2lla Yl s i

d. The absence of enzyme decreases the activation energy of a chemical reaction

" - ; _ %49 AM
H O Type here to search it ; - ' ) 4 ENG o LA



The central dogma is that the information in Sliall B Basasall Clagheal) o (gl Tasall n

genes flows from DNA to RNA and RNA to o) Adag (el el aaall ) DNA I (e (8845
proteins. In the figure below, which letter fMRNA ) nds i (gl colial JS&)) 3 . cilisg )
refers to the mRNA?

(D)

Learning Outcomes Covered

o 1.34



¥

‘ ‘Mark(s): 4/4

1
i

o 154

Q.14:.



The antidiuretic hormone regulates

) Jadd) b dlaall ¢ paedl alisd

Learning Outcomes Covered

o 1.1.10

5. Galcium a g IS
b Glucose  Ssall
.. Sodium a4l

Q.15:.

‘ Mark(s): 0/4 ‘




Q1e:.

Which substance would be extensively studied

during a college organic chemistry course?

Jiaka gy updis 00 Sgal) s (g
Chaalall B dygimal) ploastll ke oL

Learning Outcomes Covered

o 1.1.8

Glucose  38iall

‘ Mark(s): 4/4 ‘



Which macromolecule is involved in

nearly every function in the human body?

e iy S 2 JA (sl adial) pegiall e
U Gaty)

Learning Outcomes Covered

b.

o 1.1.8

Carbohydrate <), K1)

!

Lipid

QI17:.

‘ Mark(s): 4/4 ‘




Which statement about the human genome is false?  ¢4bld (£dul) aghalls Ailatall A0 &fjlal) o “gf

Learning Outcomes Covered I

o 1.3.6

O 2500000 it e o ol agiadl (sinn

The human genome contains approximately 25,000 genes

g pma Ailag (od e (DNA) (gosill pmeall dbigh culsliial o (538l agiall gy

L. The human genome contains long stretches of DNA with no known function

il agiaal) oo s el slal (€ e slale Al

The human genome was sequenced by scientists from around the world

wliggp M W jap clanglSes clluls do gl agiall (sdian
The human genome contains nucleotide sequences that all code for proteins



The graph below shows the blood glucose levels 2 jgssiall Ciligicua sl (Al Jatl g

over a period of time. Which hormone might il gl Cpa q;i ) Om B8 sk e aall
have caused a sudden surge as indicated by the faliadl &) {.,a il (550 2B ALY
arrow? aguealls agl) jLiiall

f.'.‘:i‘.’“ \[\

L — L —

Time cdgll

Antidiuretic hormone  Jgll 1Y aliaall (sl

b Growth hormone saill (jsajd

hd



Uy e

(AR RN (g 3 e
TMA._:I!JL.‘MI

 Learning Outcomes Covered

‘ o hid2

Antidiuretic hormone  Jadl JhaY slaall (e sell




Which do scientists use to cut genomic DNA into DNA adail plalal) Assidos o2l L

smaller fragments to isolate specific genes? Padaa clia Joad jual glial ) s
Learning Outcomes Covered I
o 134
o 136

3. DNAligase DNAJ Ly ol
Transgenic bacteria By dlaee LysS,

1

i

i . R T :
“-i Restriction enzymes ol ey v] i
I e P P P L P P P e P P L C P P P P P L P PP P P PP PP P AP R T d

4 Recombinant DNA €3l das (56 2 .




What is the role of the molecule below PDNA J) ¢ buaiia) (A 0lal gl sgiadl 5o L
in DNA cloning?

enzymemea\_’ Vymm

K’ Restriction
v enzyme site




Learning Outcomes Covered

o 134

Al a1 Jaly ) Laall DNA D J&s
To carry the foreign DNA into the host cell °

duiy il e DNA Il jums aan
To identify the source of DNA as foreign

Gl Cpall ol Al Al AAT) naan
_ To identify the host cell that has taken up the gene of interest

elas Y| ,_-,_a)L. oo pingll pRE Lol DNA I es
d. = To make the foreign DNA susceptible to digestion with enzymes

Q2. ‘ Mark(s): 4/4 ‘



Which is the process that scientists use to produce

large numbers of recombinant DNA molecules?

e Z sy plalall gy A Adaal) Lo
Tl e (998 plaa Cllija (e Bps

Learning Outcomes Covered

o 1.3.3.

5. Gel electrophoresis gl Ladll
b Polymerase chain reaction Ckeziall el Jolin

Recombinant DNA technology Sl dlaw (g9eill iawall A

Q22:.

| Mark(s): 4/4 |




Learning Outcomes Covered

Which of the following is not a

characteristic of enzymes?

falaiiy) pailad ool b Laa gl

o 1.1.2

Not consumed in the reaction

Q.23:.

Mark(s): 4/4




. The salt Ll

Which of the following substance
produces OH™ ions when dissolved

in water?

?olall B lgiligd uie OH™ i g A0 alal) La

Learning Outcomes Covered

o 1.1.6

Q.24:.

‘ Mark(s): 4/4 ‘




7.7 -7
v o<
7/, o7
4 -,
//,0 /,/
,/ ,° e

Q.24:.

Q.25:.

Which substance is not part of a nucleotide?

T alpaSal e Vi ial Y A Bkl L

Learning Outcomes Covered |

Mark(s): 4/4

o 1.1.8

A phosphate el gill

Marlfei- AFA




77 -7
// ’,° ’/’
’’ e
/{,. ,,/
s e

Which of the following is a
disadvantage of hybridization?

fopagill L Jha b Laa

Learning Outcomes Covered i

o 1.3.1

sl dall KL Gl el
Hybridization is harmful to the affected organisms

Al gl (e Al B gl

Hybridization is inferior to genetic engineering

Hybridization is technically difficult to perform




(5, Response Review - Google Chrome
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)

In the figure below, the letter (A) 158 (A) Wall 4 Ll sl colial Jei &

]

indicates the:

(A)

1
_INL
L M %

Learning Outcomes Covered

Enzyme

fisil=
o i
e 1.4.3

Substrate  dlo ol salldl

b, Product @ml
%
¥

Ao linall Balali—ariiY! dias

Enzyme-—substrate complex




(5, Response Review - Google Chrome
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A) N
! Ll
a3,
¥ i
hsy!
¢ 1.1.7.
e 1.3.2
o, 113
Substrate 4l lalll zalddl
Product A
b. e
Enzyme-substrate complex Ao liall Balell—aridY! daza




In the case of dehydration, the antidiuretic DY dlaall O gapgd! bl cdiliall Glae @il Jla ga
hormone binds to kidney cells sy Laa dalSl LA e 5agagall cdl@icaalls J gl
causing . . o

Jedl 3 elall 5alig elall o iall ol yaliaial sale)
The kidney to reabsorb more water and increase the amount of water in the urine

sl b elal Jiling el (e as3all Sl

The kidney to excrete more water and decrease the amount of water in the urine

Jaal (2 elall 5ab)g elall (o hall GlSl Sl
The kidney to excrete more water and increase the amount of water in the urine




Based on the photos below, which person is Cligial miia Craddd) gl colial ) gall ) )aliie)
likely to have high levels of epinephrine? ¢ oinny) Coa Axdlsa

Person B B |

L uy

b, Neither person  Lugia aaf Y
c.  Both persons  aisll 3S




Which is an example of a transgenic organism? T g Janall e ol e Yiia Al (sl La

ol aglinl i)y Lgiania cosd dala

Chicken genetically engineered to resist diseases

il Glig) e ap)m 3 i S el s Al

German shepherd bred to identify explosives

ST Jaalae z30 diaa ) Gagea

Hybrid rice grain that produces higher yields

Gaall e il Cigepud) il pta A

Praying mantises raised to kill garden pests




In the figure below, the Ietter(A) indicates: ) (A) dial) s J53 e A
Iit Variable side chain
(A)——H;,N—C—C—OH

|
Hydrogen atom H

?’ 5 deils dlele
(") —EN - ¢ {0

H O
Amino Acid g!-.uﬂ G




Which macromolecule stores energy

el Gl dilhal) O 0As (o1 adal) sgiad) L

for an organism?

Carbohydrate il 4 S

Nucleotide — asal<sul




What are variations in specific nucleotides Cladsuleull 8 Bagasall clesiill aud lila

that are linked to human diseases called? f oY) Qad Al oyl Jadifg asaall
. Proteomes (gl (gginall ale
. | Haplotypes Al all Ll
.. Genomes la gl



Why is the polymerase chain reaction used? f duadiadiall gyl Jo il aaiius 13lal

b.

' To cut DNA DNA I sl
4 - 10 separate DNA DNA ) Jad
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4 An organic compound is a compound A

fle Ll gging oXjn ga (gglaal) CKjal)

that essentially contains:

4
Learning Outcomes Covered
o 111
] > 1.1.2
1.1.3
o 1.1.4
y o 1.1.b
1.1.7
1.1.8
1.1.9
4
4 N Sodium a g3 guaall

o

O
X

<

QG
M
=
-y

) ‘. Carbon Qﬁﬁ)ﬁt Q ,

d Hydrogen Cnag yangdl

= =

. . : 810 PM
E O Type here to search O : € 172072021 L




R o)

The primary goal of the HapMap project is to:

it Hap Map gg5da g anisll Ciagl) Jias,

Yiia DNA (aal dial) bl iy g

~ Catalog the genetic sequences of individual DNA

gl Al clageall iy Bacld g

sreate a database for genetic biological information

S DNA 3 sl labas s
- Map the sequence of nucleotides in human DNA

bt Ayl alial ) g0 ) il e

~ Identify genes that cause serious human diseases




Which of the following is an example of a solute? feliall Ytia 3t L Laa (51

elall 8 Aallall 4

Soil suspended in water

c_lal'f Cul ,___.r_;lﬁ'l elall

Water that dissolves salt

Water with undissolved soil

sl il Sl

Sugar that is dissolved in water



Which correctly lists the terms in order from

£ ) (4 ol il g s laa gl

smallest to largest?

233554S5:s DNALly cilagusgag Slly silas S

Chromatin, chromosomes, DNA, nucleotides

135S5:lly (ylag Slly DNALlg ilagaasag 1

Chromosomes, DNA, chromatin, nucleotides

agusgag Slly yileg s s iSsuills DNA

DNA, nucleotides, chromatin, chromosomes
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Which of the following is a function of proteins?  filidigsll iy (e iy b Lea g

F
Learning Outcomes Covered
2 o 111
o 1.1.2
o 1.1.3
o 1.1.4
F
o 1.1.6
o 1.1.9
4
Store and communicate genetic information  lglaig 441,40l cilagleal) (p3as
F
— =
| Provi - . |
, | Provide barriers Gales g v
g B B B B B 4
Store ener Aalhall piAn
. gy s
4. Make some hormones Ciligaygdl iams 60

= =
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Which process is applied to identify g o] ) s dn) e L

mutations or errors in DNA molecules? DNAciLs

. Gel electrophoresis 4l Jual .
.

b Polymerase chain reaction Juduiall gyl el

Recombinant DNA technology oSl ales (gygill jaeall duii




High amount of cholesterol in the blood are
associated with the development of heart
disease.

In order to study the effects of soluble fiber in
the diet on cholesterol, the researchers have
done an experiment where they evaluated the
effects of three soluble fibers on cholesterol
levels in the blood: Pectin (PE), guar gum (GG),
and psyllium (PSY).

Based on the data, which of the following
describes the effect that soluble fiber appears to

hawn am chalastarnl boaenle Gn #ha hlaadAdd

TEFTLLS W LI DT DWILIAIG SIS T W LRI LT W

levels in the blood: Pectin {PE], guar gum {GG],
and psyllium (PSY).

Based on the data, which of the following
describes the effect that soluble fiber appears to

have on cholesterol levels in the blood?

Effects of Soluble Fiber

10F

=

]

E 8 .Male
? EF [ remate
2 a4t |

E p
2 at =
u

Diets

(PSY)asilluulls (GG) il fasag (PE) g

Lyl pal (A 5 Realsl) Ao £ L) Jay
Bl i)l

B Clighll AR LY St Al g
Shigiae (b AR Al Lgple gokey

O 13438 duat elals slalall alE ¢ g Sl <1
Slsilt ALEY L) ce gl S0 St Lenis
gty adl A Jgtelstll Slagien A

(CNT) Blial] Jala) 3 gladanal] (S5
S s A Laa (4] Dbl ) Tl
Cliges b Ll ALLEY CLISU Bl

Pty adl B g Al Dligis B
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Y1y S sie Jg il o€l cligiun ol AL LYY ks

Soluble fiber appears to lower cholesterol levels in males and females

lly o€ o g € e gl AL U1

Soluble fiber appears to increases cholesterol levels in males and females

Nl & Jo il &l ggine Lo t_;ds;.ill f.Uaﬂi SaY
. The diet doesn’t affect the level of cholesterol in the blood

L ) s Jg ) g gl AL G i

Soluble fiber appears to lower cholesterol levels only in males




The cross below could be used to determine

the genotype of a parent with a dominant

phenotype.

What is this type of cross called?

Heterozygous white

grapefruit
IVJW

3

Sukall aaat olial dauiagall zgliall dslas aladied (Sas
il (Gl bl Al (53 Jua¥) Al oSl ual
Tl e gl Va8 s Vila

SO DUV TR
2ol s

w w

Ww | ww

3
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:

JUR U PR
el Jilie
4
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A homozygous cross

ciliall Jilaia Gl

. A heterozygous cross «liall Callaze gl

<. A parental cross

ol Gasls

a A test cross

Bylasl Bl

L4

b
o]0



The central dogma is that the information in
genes flows from DNA to RNA and RNA to
proteins. In the figure below, which letter

refers to the DNA?

Clisal) LA Bagasall laglall of (Sl Tasall s
adag (5 sull) G5l paaal) ) DNA ) Ga (3003
A A s ips (g olial Jal A L clagua )

¢DNA




Which equation satisfies the law of

eBalall Jads Ogi (383 AN cNaleall Ga (g

conservation of matter?

Learning Outcomes Covered

‘ o 1.1.1.

T T
.| 30 +4A1 2810, o

_ 40, + Al > AlO, 5

. 40, + 3Al — 4AIO;




The more a substance releases positive daagall fpag gl Ciligl aae alajl Lals

hydrogen ions into the solution, the more: tdslaall A Balal) Lgdllad Al

Learning Outcomes Covered I

1.1.1.
1.1.2
1.1.3

o
o
o
o 1.1.6

Its boiling point increases Oldall oy iy




Which pairs of hormones have L Al cligasedl (o Anlill) e ganall a (g
opposite effects? C5aliaia cfyils

Calcitonin and parathyroid hormone

Epinephrine and norepinephrine

J3ysSlly &g yiias gtV
_ Aldosterone and cortisol




Which hormone is released by the pancreas? bl s (o) Ol L

. Calcitonin i gl




Which of the following describes the reaction yesal) A3Ual) Jahiday dagyal) Jo Uil ciims b Laa (,51
associated to the energy diagram below? ) e olial

ABla)) Jalasee

Energy Diagram

Energy
Bl

)

Byl jale s Jelall 13a 13 edlelad) 48l e J8 m3l5ill d8LL )

The energy of the products is less than the energy of the reactants so this reaction is endothermic

Slall ale 5o 13 Lostis 25U Joliall 13 2l

. The reaction requires activation energy so it is endothermic

Shall 3jla 5o 13 dastis ZaUa Jolill 13 £ lias

The reaction requires activation energy so it is exothermic




In the figure below, which letter indicates the e i sl i ol dim ‘5; colial Jeal b

hormone receptor?

[T
l | L0
c (& 0

o )




Which joins amino acids together? Pl diadl) (alesl) by o) La

Learning Outcomes Covered I

1.1.1.
1.1.2
1.1.3
1.1.4
1.1.6
1.1.9

o o o o o o

N Hydrogen bonds diia g yugll Lalg
p,  Covalent bonds daanlall dalg !
. lonic bonds




Which is the process by which unwanted
aggressive behaviors are bred out of certain

types of dogs?

Llgand) ClSgladl slasicd) Lguagan ok A1 ddastl L
TS (o dima £ 19l o L gisall

. Hybridization g

. Test crosses  glaall il

d Inbreeding

RN
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